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INPUMEPHU PEHIEHUA U KPUTEPHUHU 3A IPOBEPKA U OLIEHKA
10 xki1ac
13aa: a=2, (1 mouka)

b =-3, (1 mouxa)
c =4, (1 mouka)
d =8, (1 mouka).

X, = —% (1 mouxa),

Vo =9 (2 mouxu).
23aa: a) x € {— 2; — ?} ) {?;2} (2 mouxku);

x € (—0;3 - \/ﬁ) U (I;S)U (3 +4/10; oo) (1mouka),
6) |x € [-2:1]u(3;00) (1mouka),
x e (=7:0)U(2:8) U (8;0) (1mouxa).

xXe [— 2;3— \/ﬁ)u(& 5)u (3 +/10; 8)u(8; o) (2 mouxu).

33aa. a) 10,262% (3,5 mouku);

6) pa3msHa Ha IpeaHU TyMHu Cbe 3agau ciaen 24 000 kM (1,5 mouku);
Hai-ronstMoTo pascrosaue e 48 000 kM (2 mouku).

OueHsABAHETO € NpUMEPHO. Bcekn APYr BEPE€H BAPUAHT CHIIO C€ OLEHSABA C MaKCHUMAJICH 6p0ﬁ
TOYKH.

3a o0s1acTeH KPbI' ce KJIACUPAT YYEHULH, OJYYHJIH MUHUMYM 16 TouKH.



